1 [ 2 [ 3 [ 4 \ 5 ] 3 \ 7

S

SAB818/DRA8BL8 500mW/1W TRANSMITTER

AUDIO ONLY

HAYWIRE SHOWN ON PWA (TOP>
NO RF SECTION (TALKIE TOASTER)

-32 TO -33 CHANGES

ADD STATIC DRAIN RESISTORS
R7, R1@, R17, R19

-22 TO -23 CHANGES

U4-18 (MIC-IN> IS NOW DC ISOLATED

-23 TO -24 CHANGES

ADD D4 TO PROVIDE HI/LO POWER CONTROL;
CONNECTION TO BRD$4-CTL

NOTE ON USE OF D2/VR1
ADD DS1 (SCHOTTKY DIODE> TO ELIMINATE NEED FOR UR2

ADD ATTENUATOR
R2, R21, R22

-33 TO -34 CHANGES

McMASTER-CARR SPACER
PART NUMBERS

SCREW M2.5x@.45
SCREW M3.9x8.5

12mm SPACER M2.5x0.45
14mm SPACER M2.5x0.45

12mm SPACER M3.9x8.5
14mm SPACER M3.29x08.5

92000A104
92000A116

95947A007
95947A00S

953847A00B8
95947A010

-34 TO -36 CHANGES

CORRECT UR1 PINOUT

-36 UPDATES

UPDATE ’HAMMOND_1599E_SA818L’ PACKAGE
WITH DRILL DIMENSIONS
ADD MCMASTER SPACER LIST

SA818 SYMBOL UPDATED

17 NOU 2022

CHANGE C13 TO 18UF TO ALLOW TIME FOR DRA8S1S8
TO INITIALIZE AND BE SETUP FOR OPERATION
THROUGH THE SERIAL INTERFACE. <1008mS)

16 FEB 2023

ADD NOTES ON SCHEMATIC FOR TEST CONFIGURATION
SAME NOTES ON BOARD LAYOUT

-24 TO -29 CHANGES

CHANGE TO SPLIT PD* AND PTTx SIGNALS
HIC108mW>/LOWS80mW> IS JUMPER

AUDIO TEST PATH BYPASSES ATTENUATORS
ADD LEDs TO PTT AND PD SIGNALS

FIX R8/R8 ORIENTATION (SWAP RX/TX>

R37 MOVUE TO OTHER SIDE OF R15

REWORK INPUT TO U188 SO BOTH DRA818 AND

ATTENUATOR NETWORK
PART NUMBERS

CRCH128611R5FKEA
CRCW12B8617R4FKEA
CRCH128623R7FKEA
CRCW128637R4FKEA
CRCH128645R3FKEA
CRCH128652R3FKEA
CRCH128671R5FKEA
CRCW12B8695R3FKEA
CRCH1286115RFKEA
CRCHW1286130RFKEA
CRCH1286150RFKEA
CRCH12B86221RFKEA
CRCH1286294RFKEA
CRCW12086432RFKEA

541-11.5FCT-ND
541-17.4FCT-ND
541-23.7FCT-ND
541-37.4FCT-ND
541-45.3FCT-ND
541-52.3FCT-ND
541-71.5FCT-ND
541-95.3FCT-ND
541-115FCT-ND
541-130FCT-ND
541-150FCT-ND
541-221FCT-ND
541-294FCT-ND
541-432FCT-ND

PWA RELEASED AS 2D354 1082- 73181 -36

PWB RELEASED AS 2D354 182- 73181 -36

HOST CAN DRIVE AUDIO AMP

TOP_FULL | BOARD ASSY [BOT_COMPACT[ BOARD-ID

DRANING FRAME SHOWN ON CIRCUIT BOARD

Drawn Date

KC@JFQ‘mmw&m

The University of loua

Department of Physics & Astronomy

Toua City, IA, USA T

-29 TO -32 CHANGES

ADD PAD AND ISOLATION FOR POWER CONTROL

Date

KCBJFQ |2019-85-13

THIS BOARD CONTAINs | cStdned

STATIC SENSITIVE

TITLE: DRA8B18 AMP (SPLIT PTT/PD>

A102_73181_36

DEVICES. HANDLE

Azed onLY IN STATIC saFE

ENVIRONMENT

ADD ©.950” (v) TO ’HAMMOND_1599E_SA181H’ LIBRARY PART

MARK ZERO POINT FOR
PICK & PLACE FILE ON

PRINTED CIRCUIT BOARD
1 1 1

CAGE
2D354

Series
FOX TRANSMITTER

102

B

Number

73181

2 Layers Rev

36

Date:

2/14/24 5:22 PM

2/14/24 5:23 PM

Sheet:

1/3




1 2 3 4 | 5 ] 6 | 7 | 8 | S
) ) ) ) ) ) ) 1 ) ) ) ) )
. = SAB818 RF AMPLIFIER
RF_DB$2 2 LAYERS 182-73181-29 UOLTAGE R22
DROP_ 8.6 ©dB N/A 500 1000
_ 11.5 11.6 -2dB 436 432 315 631
w2 oot 4 s K~ l SOFTHARE 17.4 17.6 -3dB 292 2394 258 500
PAD  PAD soFTlRe besls O PBCB2SAAN  1N4148 OPDEpaDE | HAYURE TO U42 % 378 _edn 100 a8 199 351
| REGULATOR | 45.2 44.8 — -7dB - 138 130 - 188 - - 208 — |<
CCONNECTION SHOWN 52.3 52.8 -8dB 116 115 80 158
71.5 71.2 -1@dB 96.2 95.3 50 100
= = R3 RESISTOR 10 RF_DB$4
470 LOAD 4.2 RAIL 102-73181-29
s/ Dl I gf‘ CamA> 20 02
45.3
500mU 100mU RF-0UT _
T o . os ST T g PURGGEx e e
7,
L = 3.78nA LTL-4223 LTL-4223 LTL-4223 Jp2 Ds1 o o 74
PBCB2SAAN BAT46U R21 R22
Zpnd Loo2 U4 3 13e. 130. = =0
PUR500* | = R2 SAS818/DRAB1S 172U 172U =
= 121K V4.0 CTL
l\ 2w Heo oewver | prn [ an s | R = = =
[CTL 2 | >4 PDx 2208 L yshry - — 3
| pow’ Lue AUDIO |
L “ u2$1 2L SHPB Loo
74LVUC1G17 <3.3V R12 HLm l:Tl:l:cl/l:|l:zl:": FILTER
9 1
TEXPANSION. US.8  U5.8 | 47K 1.21K 10 | OO F T AUDIO_OFF
PLO o) UOLTAGE DROP ACROSS GND1L : 100mU DEV
oO— Dé6 AND THE LEDs
PAD 1 PREVENTS CURRENT L DSP (] RF TRANCEIVER vic_in |18 A-IN F_DB$3
O 9SW - FLOWING BACK INTO = 1m0 731
(ENABLE) E 3.3V RAIL , T T T TT axp 16 102 3181-29
IS ACTIVE . 2 [T >0t PTI 2wt PTT= St — e | | ws || e H . REQUIRE faak =
L HIGH 5SH o U1$1 R11 o |- TRI 20md DEV ?ggao
74LUC1614 1.21K I FRO
RF _DB$1 b U3.3 U3.3 gf&r P =
_ o 47K . . SERIAL CONTROL . R14
102-73181-29 aTATIC FROM zEO oc 1.21K 4
_|_PROTECTION u1$e u2$e DB$5 1.80K BLock E%gPF o =
- 102 73181 29 RS
BYPASS BY TXD TXD 3‘/\/\/\/\“ — =
I: I: C1 & C19 - XD ‘ ‘ FiLTeR A uaTon
r l 4LUC1614 l 4LUC1617 W —
1.88K
= = S RS
R1S % R17 SERIAL POLARITY
.1ur .01UF .1ur .01ur = 47K = 47K CHOﬁpSREBCETEEND
N
— — — - TPL TP2 TP3 TP4 TP5 TP6 ROTECTON FROM -22/-24 4.2y
PAD PAD PAD PAD PAD PAD ne REVISIONS U4.0 u3.3
— = INSTALL VERTICALLY @)
L DS2
1N58191
R4 o1 ‘ A ISRC
1 5 USE UR1 OR D2 USi;Iﬁ USE U(I?\IZOTOFEOE_JI_SHZ) S0D123FL
TP7 TP8 TPS TP1@ TP11 (NOT BOTH) U 10
L U5.0 A~ C U5.0
c5 1 PAD PAD PAD PAD PAD ALK U1/U2 SUPPLY
L47UF R1 47K C14 V5.0 ? UR2 TS3488CX33
2w e 7PF L uN uour |2 21 uN o vout A
- RS 47K LM4871 _L = _L
II LAAAA 2 TPA301L © = = = = = + _ﬂi_ —
! I ci8 | c17 UR1 10@mA
Cis 8 1UF | .B1UF c11 PAD N ¥ MIc5209-4.2 (o} cie c2e @ soT-23 c19
«47UF z .7ur JAUF .01ur GP3 500nA .O1UF | 4.7UF .01UF .01ur AUF
4 — — -600myV
IN- e it — $0T223 — — — — — —
3| e } | yoe B ISP+ 1
i i
o " INTRERNAL
c15 v
1UFI e . SPEAKER
i
JP4 = — +
PBCO2SAAN . ' . . i
1 t e Universi of louwa
[AUDIO_OFF 00 AW SHUTDOWN 2 CUS-1608 rauwn ate Depariment of Physice & Astronomg
INSTALL R37 N P = KCBJFQ |2018-05-13 loua City, 1A, USA T
4.7K R15 ~ y .
TO MUTE 10K Designed Date |TITLE: DRA8S18 AMP (SPLIT PTT/PD> A102_73181_36
AUDIO FROM B KCoJFQ |2019-85-13
— N ]
MOTHEQBOHQD — CAGE SEI’IESFOX TRANSHITTER B Number 2 Layers Rev
= 2D354 | 102 73181 36
. . . . . . . . . . . | |Pate: 2/14/24 5:22 PM 2/14/24 523 pn | Sheet: 2 /3




PDx’

PTT*’

IDLE

T1 T2

MODULE POWER-UP RECOVERY'50mS
SUGGEST 158@mS, SEE DATASHEET

T3

MESSAGE DELIVERY TIME

T4 T5

50mS ' 50mS

IDLE

Draun Date The University of loua
KCBJFQ |2018-05-13 Department of Dh%osicasc?ﬁg‘{ao,nﬁgg'
Designed Date |TITLE: DRA8S18 AMP (SPLIT PTT/PD> A102_73181_36
KCBJFQ |2019-85-13
CAGE Series Number 2 Layers| Rev
FOX TRANSMITTER B
2D354 | 102 73181 36
Date: 2/14/24 5:22 PM 2/14/24 523 pn | Sheet: 3/3




